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1. I can’t get a cat. I already have four dogs.   

A. I can’t get a cat because I already have four dogs. 

B. I can’t get a cat; furthermore, I already have four dogs. 

C. I can’t get a cat although I already have four dogs. 

D. I can’t get a cat; therefore, I already have four dogs. 

 

2. I didn’t go to the party. I was invited.   

A. I didn’t go to the party because I was invited. 

B. I didn’t go to the party; furthermore, I was invited. 

C. I didn’t go to the party although I was invited. 

D. I didn’t go to the party; therefore, I was invited. 

 
3. I wanted to do well on the test. I studied all evening.   

A. I wanted to do well on the test because I studied all evening. 

B. I wanted to do well on the test; furthermore, I studied all evening. 

C. I wanted to do well on the test although I studied all evening. 

D. I wanted to do well on the test; therefore, I studied all evening. 

 

In the following paragraph, there are blanks for transition words. Choose the best  transition 
word from the answer choices. 
 
Once upon a time there was a little dog named Bonnie. (4)  she was a 

very sweet little dog, she always got into trouble. She chewed up shoes and did her business in 

the house. Her owner scolded her again and again. (5)  , Bonnie just 

didn't get it. (6)  , one day she dug up the flowers that her 

owner had just planted. Her owner put her in a crate (7)     that 

Bonnie cried and whined and scratched all afternoon. 

 
A. however              B. although    C. furthermore      D. despite the fact 

 

 

Pick It, Fill It 


